
THIS DRAWING IS THE PROPERTY OF
AUSTRAL INSULATION AND MAY NOT
BE REPRODUCED IN WHOLE OR IN PART
WITHOUT THEIR PRIOR WRITTEN CONSENT.

ALL COPYRIGHT RESERVED.

SECTION
(CEILING)

SECTION
(CEILING)

SECTION
(CEILING PANEL END / PANEL END)

GALV. STEEL “L” BRACKET
WITH 1 X M10 NUT

CHAIN / CABLE 
(5MM ZINC PLATED STEEL
OR 5x19 GALV. STEEL CABLE) 
BOLTED THROUGH PURLIN &
GALV. STEEL “L” BRACKET

ECONOTILT 
PANEL

ZINCAL STRAMIT SPEED DECK @ 1.5° PITCH

RB7 RAFTER

ROOFING PURLIN

GALV. STEEL CHAIN / CABLE
BOLTED THRU ANGLE

THEN THRU “L” BRACKET

300 300

GALV. STEEL “L” BRACKET
WITH 1 X M10 NUT

MAIN STRUCTURAL TRUSS

UB BEAM FOR CEILING 
SUSPENSION SUPPORT
FIXED TO TRUSS AS PER 
ENG. DETAIL

GALV. STEEL ANGLE BRACKET
WITH 1 X M10 NUT & BOLT

GALV. FLEXISTRUT
(LENGTH TO BE DETERMINED)

ATT’D. UB BEAM WITH 2 “U” BRACKETS

M10 GALV. ALLTHREAD ROD, 
NUT, 62 X 2MM GALV. WASHER

WITH MASTIC UNDER &
OVERSEALED WITH SIKAFLEX

FOLDED COLORBOND
WITH EXPANSION ‘V’ BEND 

MASTIC UNDER &
OVERSEALED WITH SIKAFLEX

M10 THREADED ROD
& NYLON MUSHROOM HEAD

M10 NUT, GALV. WASHER
WITH MASTIC UNDER &
OVERSEALED WITH SIKAFLEX

150
50

RAFTER

GALV. STEEL
FIXING CLEAT

SILICON
UNDERSEALED

FOLDED COLORBOND 
WITH EXPANSION ‘V’ BEND

(OTHER OPTIONS:  ALUM. ‘T’  BEAM OR  ‘I’ BEAM)

REFRIGERATED DETAILS
Freezer Details
CEILING SUSPENSIONS

Drawn SDH

Date 28.02.08

Rev. 24.07.08

Checked 

Drng. No. B7


